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QUESTION 1

During implementation, you created a Financial Reporting Compliance superuser and assigned this user
the following roles:

Enterprise Risk and Control Manager

IT Security Manager

Employee

The superuser logs in to Financial Reporting Compliance but is not able to create new Data Security
Policies.

What is wrong?

A. The superuser\\'s account is inactive and his or her account needs to be activated.

B. The application will not allow a user to both create users and assign them roles.

C. The superuser\\'s account is created but the synchronization jobs have not been run.

D. The superuser\\'s account is not yet approved by his or her supervisor in Financial Reporting Compliance.

Correct Answer: C

QUESTION 2

During implementation, you created a risk object and successfully mapped it to a control object. The
client\\'s Risk Owner is able to access the risk but not the control.

Why did this happen?

A. The Risk Administrator needs to run the synchronize jobs to populate the mapping.

B. The Risk Owner account is inactive.

C. The Risk Owner role does not have the right privileges.

D. The risk and control objects are inactive and need to be made active.

Correct Answer: C

QUESTION 3
Which three steps can be performed by using the Configure Module Objects pages? (Choose three.)

A. Choose display (or hide) configurable options for: results, events, consequences and treatments.
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B. Set "object-perspective” association.

C. Create object data import templates.

D. Edit the assessment activity question and guidance text for all assessment types.
E. View assessment response details for all assessment types.

Correct Answer: ABE

QUESTION 4

You are configuring security and you do not want the risks to go through the review and approve process each time they
are updated. How will you meet this requirement?

A. Add the Risk Reviewer Composite duty role to the person who creates the risks so he or she would be able to review
them before saving the record.

B. Use only the Risk Approver Composite duty role in the configurations so the risks will not go through the review
process.

C. Ensure that only the upper management is given the Risk Reviewer Composite duty role so they could review the
risks that they want to review.

D. Ensure that no user has been assigned a job role that includes the Risk Reviewer Composite or Risk Approver
Composite Duty Role.

Correct Answer: B

QUESTION 5

You are implementing Advanced Access Controls and there is a requirement for a control to monitor user
access to specific, client-defined access points which give users the ability to both initiate a purchase order
and approve payments on that purchase order.

Which is a valid option to implement the control?

A. From the "Access Entitlements" page create two entitlements containing the respective client- defined access points.
Create an access model from the "Models" tab of Advanced Controls, based on the entitlements you created.

B. Select Actions > Create Access Control from the "Controls" tab of Advanced Controls.

C. Create an access model from the "Models" tab of Advanced Controls, and then define an access point filter for each
individual client-defined access point.

D. From the "Access Entitlements" page create two entitlements containing the respective client- defined access points.
Create an access model from the "Models" tab of Advanced Controls, based on the entitlements you created. Finally,
deploy an access control in the "Controls" tab of Advanced Controls, and select the access model you created.

E. Create an access entitlement from the "Access Entitlements" page, then select Actions > Create Access Control from
the "Controls" tab of Advanced Controls, and select the entitlement you created.
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Correct Answer: D
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